Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 (.3947
Book (short dimension) 548 15.2 0.3908
Paper clip (long dim.) lg 3.3 0.3977
Paper clip (short dim.) fég 0.8 0.3906
Pen (length) Be 13.6 0.3952
Phone 3% 5.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is appreximately equal to 0.39,

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
' inch/centimeter = 2.54. {1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inchos/centimeters” is:
inches/centimeters = 0.39. . .. (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so {3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when yvou try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liana figure ont why they can’t agree.
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Instructions. Always include explanations, so that othcx readers can tell what you did and why you did it. Never write

outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm,
Boolk (long dimension) 9 22.8 0.3947
Bock (short dimension) 513 15.2 0.3906
Paper clip (long dim.) lg 3.3 0.3977
Paper clip (short dim.) % 0.8 0.3906
Pen {length) 5L 13.6 0.3952
Phone 3% 8.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch == 2.54 centimeters. Therelore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch fio a centimeter, we must gef a
namber that is larger than 1.”

Danicl said that Liana is wrong. His tahle shows that the correct valie of “inches/centimeters” is:
inches/centimeters = 0.39. ... (2)

centimeter/inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3} is right, because

centimefers per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write

outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 5_}5% 15.2 0.3506
Paper clip (long dim.) L35 3.3 0.3977
Paper clip {short dim.) i 0.8 0.3906
Pen (length) 5-{% 13.6 0.3952
Phone 348 91 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch == 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get: e
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we fake the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the corvect value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. : (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2}, you get
centimeter/inch = 2.54. {3
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters por inch is the number you get when you divide a
centimeter into an inch, not what you get when you $ry to find out how many inches there are in a centimeter (which would

be 0.39).

Flease help Dandel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what vou did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book {short dimension) 5% 15.2 0.3906
Paper clip (long dim.) 135 3.3 0.3977
Paper clip (short dim.) TDB 0.8 0.3908
Pen (length) 5 13.6 0.3952
Phone 3% 2.1 0.3084

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.
e R

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. [Therefore, dividing both

,ﬁM

sides by centimeters, we get:
inch/centimeter =:2.54. (1)

She also said, “An inch is higger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0,39.. .. (2)

He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get

centimeter/inch = 2.54. {3}
“He added, “2.54 is the number of centimeters per inch, so (3) is right, because -
wr -
centimeters per inch = 2.54. -~ -
] A

Liana said that Daniel sy
centimeter mto an mch e}
be 0. ‘59) L

Please he!fp Daniel and Liena figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.
Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Bock (short dimension) 5% 152, 0.3906
Paper clip (long dim.) 13 3.3 0.3977
Paper clip (short dim.) ;Zt:) 0.8 0.3006
Pen (length) 5 13.6 {1.3952
Phone 3%? 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this s wrong, because the conversion table in her book says 1 mch = 2.54 centimeters. Therefore, dividing both

Siddes by centimeters, we get: :
1nch/cent1mete1 = 2.54. (1)

She also said, “An inch is bigger than a (‘entlmetu s0 whenh we hke the ratio of an inch to a centimeter, we must get a
number that ig larger than 1.7

Daniel said that Liana is wrong. His table shows that the carrect value of “inches/centimeters” is:

inches/centimeters = 0.39. ... . Y (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get r‘m-}.\ - 1
centimeter /inck = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so {3) is right, because

centimeters per inch = 2 04 /,/
/M h Cim

Liana said that Daniel is wrong, because the-number of centimeters per mch is the number you get when you divide a
the-number of cend

centimeter into an inch, not what you get when you try to find out how many inches ER&Fs are in a centimeter (which wonld
be (.39).

Please help Daniel and Liona figure out why they can’t agres.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Dantel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Boock (long dimension} 9 22.8 0.3947
 Book (short dimension) 512 15.2 0.3906
Paper clip (long dim.) 1—':‘52 33 0.3977
Paper clip (short dim.) —J:'ﬁ' 0.8 0.3906
Pen (length) R 13.6 0.3952
Phone 3§ 8.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.38.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimetors, Therefore, dividing both

sicles by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel saiel that Liana is wrong. Iis table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. .. {(2)

He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2}, you get

centimeter/inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so (3} is right, because
centimefers per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {which would

he 0.39).

Plense help Dandel and Liana figure out why they cant agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book {short dimension) 512 16.2 0.3906
Paper clip {long dir.) I—JBE) 3.3 0.3977
Paper clip {short dim.) % 0.8 - 0.3906
Pen (length) 52 13.6 0.3052
Phone 3—%% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Iiana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

stdes by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. .. {2)

~ He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54. (3)

He acdded, “2.54 is the number of centimeters per inch, so (3) is right, because
p k] L] ¥
centimeters per inch = 2.54.

Liana said that Danic! is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Piease help Daniel and Liana figure out why they van't agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why yeou did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3047
Book (short dimension) 543 15.2  0.3906
Paper clip (long dim.) lif) 3.3 0.3977
Paper clip {short dim.) igﬁ 0.8 0.3906
Pen (length) 5L 13.6 0.3952
Phone BB 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says. 1 mch = 2 54 centimc:toxs Therefore, dividing both
sides by centimeters, we get: S

“inch/ centiméter = 254, (1)

She also said, “An inch is bigger than a centlmctcr 50 when wo take the ratio of an inch to a cenhmetel wo must get a
number that is larger than 1.” a

Daniel said that Tiana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centirﬂeters =0.39... (2)
He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54. (3)
He added, “2.54 is the namber of centimeters per inch, so ('%) .is right, because

centimeters per inch = 2.54.

Liana said that Daniel iz wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find cut how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liona figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
- outside the box.

Inches and Centimeters., Daniel measured several things in inches and in centimeters and he made the following tahle:

Object inches centimeters in./cm.
Book (long dimension) 0 22.8 0.3947
Book (short dimension) 5}-{3 15.2 0.3906
Paper clip (long dim.) lgj 3.3 0.3977
Paper clip (short dim.) % 0.8 0.3906
Pen (length) 5L 136 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.
Liana, said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sifles by centimeters, we get: /et -
= o =L 5%&znch/cent1mete1 = 2.54. P Ry (1)

She also said, “Ad inch is blggel than a dentimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Dantel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

e B Lt
inches/centimeters = 0.39. ... NI e 5 (2)
YTy 'i

He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2), you get
c "M P R

centimeter/inch = 2.54. e ; ‘‘‘‘‘‘ (3)

He added, “2.54 is the number of centimeters per inch, so {3} is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the hox.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 (.3947
Book (short dimension) 5%:% 15.2 0.3906
Paper clip (long dim.) 1% 3.3 0.3977
Paper clip {short dim.) i 0.8 0.3906
Pen (length) 5-2 13.6 0.3952
Phone 3%§ 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get: :
inch/centimeter = 2.54. , {1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a contimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. .. (2)

He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2}, you get

centimeter/inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3) is right, because
centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Dantel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Bock (short dimension) 518 15.2 0.3906
Paper clip (long dim.) 1-15'6— 3.3 0.3977
Paper clip (short dim.) 11‘5; 0.8 0.3906
Pen (length) 55 13.6 0.3952
Phone 3%— 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/cenf‘;'}?é{figf = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that ig larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. A (2)

He also said that 1/(2.54) = 0.393701, so if you invert both sides of {2), you get

centimeter/inch = 2.54. v (3)

He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

o . 2.5 % Ao o
Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would

be 0.39).

Please help Dandel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm,
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 542 15.2 0.3906
Paper clip (long dim.) 111566 3.3 0.3977
Paper clip (short dim.) EDE 0.8 0.3906
Pen (length) 52 13.6 00.3952
Phone 3%% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get: K
\in‘ch/centimeter = 2.54. 7 (1)

She also said, “An inch is bigger than a centimeter, so when we take theof an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

@gﬁm
Izjmﬁ 5 ﬁ’::;

He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get

mcheﬁcynttmeters =039 . 2)

centimeter/inch = 2.54. (3)

He acdded, “2.54 is the number of centimeters per inch, so {3) is right, because

centimesers per inch = 2.54.

Liana saicd that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches therc are in a centimeter (which would

be 0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

" Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimensgion) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3506
Paper clip (long dim.) lwlg)- 3.3 0.3977
Paper clip (short dim.) % (.8 0.3906
Pen {length) SE 13.6 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing hoth

sides by centimeters, we get: i _ ?V\ -
inch/centimeter = 2.54. —_‘T-Qm = (1)

‘ A .
She also said, “An inch is bigger than a centimeter, so when we take the ratio o?an inch to a centimeter, we must get a

number that is larger than 1."

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. . (2)
He also said that 1/{2.54) = 0.3937C1, so if you invert both sides of (2), you get
- centimeter /inch = 2.54. {3)
He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

[.iana said that Daniel is wrong, because the number of centimeters per inch is the pumber you get when vou divide a
centimeter into an inch, not what you get when you try to find cut how many inches there are in a centimeter (which would

be (0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {long dimension) 9 228 0.3%47
Book (short dimension) 543 152 0.3906
Paper clip (long dim.) l—]_lgﬁ 3.3 0.3977
Paper clip (short dim.) i 0.8 0.3008
Pen {length) 52 13.6  0.3952
Phone 3%2 9.1 0.53984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her hock says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we getf:
inch/centimeter = 2.54. [ b prr Frhinelr (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
namber that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39. . .. wihes por ot 2}

He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2}, you get
ot iach (3)

centimeter/inch = 2.54. Corimelts p
He added, “2.54 is the number of contimeters per inch, so (3) is right, because

centimeters por inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters por inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {(which would

be 0.39).

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always incliude explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906
Paper clip (long dim.) IE) 3.3 0.3977
Paper clip (short dim.) % 0.8 0.3906
Pen (length) D 13.6 0.3952
Phone 3% 4.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says | inch = 2.54 cenéimeters. Therelore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39.. .. (2)
He also said that 1/(2.54) = 0.303701, so if you invert both skles of {2}, you get
centimeter/inch — 2.54. . {3}
He added, “2.54 is the number of centimeters. per inch, so (3} is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of ecentimeters per inch is the number you get when you divide a
centimeter into an inch, not what you got when you try o find ot how many inches there are in a centimeter (which would

be 0.34}.

Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in. écm.
Book {long dimension) 9 22.8 3947
Book (short dimension) 5% 15.2 0.3906
Paper clip (long dim.) 1725 3.3 0.3977
Paper clip (short dim.) i 0.8 0.3906
Pen {length) 58 13.6 0.3952
Phone 3}—2 9.1 (.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both
. . e et b a0 )
sides by centimeters, we get: Aany

- 5 . ,
inch/centimeter = 2.54. ’ﬁ:‘%’;ﬁ 'S A T ?::5{_{ i?r} /C?%f"rgi.. (0

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
. nurnber that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimefers = 0.39.. .. : (2)
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2}, you get
centimeter /inch = 2.54. (3)
He added, “2.54 is the number of centimeters per inch, so {3) is right, because
centimeters per inch = 2.54.
Liana said that Daniel is wrong, becauge the number of centimeters per inch is the number you get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Daniel and Liana figure out why they can't agree.
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